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Congratulations! Movies we think You will ¥

Add movies to your Queue, or Rate ones you've seen for even better suggestions.
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In [1]:  import pandas as pd

- CJ|Of &

raw_data = pd.read_excel (' 1A X 180602.xIsx ',

In [2]: raw_data.head(2)

Out[2]: depatment_2 name

sheet_name='Sheet1')
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name_2 title
0 HEEACSH 212 g=glet ot=mol L arsty|E

s AHZ HSaa3FFAAE(ETCS) EER E7(FLs HAg SHez)

5 SOtCHsl A2 Derivation of Gaussian Distribution in Physics...
6 SOCHE M2 Special Relativity Says That Energy is a Vect...
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In [8]: from langdetect import detect
name_2 title language
0 FEEMNE 242 dr=E|e ot=xo Lt tsty| ko
1 ZESUlsy 2¥2 HSazVFALHE(ETCS) BES AF(FLe HAE SHRR) ko
4 S OHCHEH, Mz Special Relativity, and Gravity and Coulomb Force en
5 =S CHSH Mz Derivation of Gaussian Distribution in Physics... en
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« Q1312 0f Stopwords setO| ¢}

Out

Counter({' d1&2|"

‘ot=": 356
L kst
'Jl=": 5286,
At 120,
Q=" 14,
SRR R
CAIAET D 1678
‘Hosh 30,
'OE'?': 3314,
=1lt=="1 134,
HEALT 187,

- O|O| & T XqE]

0 - |stopwor.1

24 |4 4009 s
9 A 3314 s
84 |HtE 2619 S
43 |2AM 1693 s
7 INES = 1678 S
60 |7|gt 1550 s
176 |CHt 1155 S
842 &KX 1141 s
178 |7 1086 s
14 |2 803 s
493 |E7} 801 S
26 |7|H 758 s
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In [168]: clean_title

out[168]: [['HR&eal', 'Lt=ts'],
:II_%I! |Eg_|! |§_J.I:|! IE_E_%J‘I |_;::__j—!__,ﬁlll]
U JIA=", O, g, "I, TOHEILET, TA A
AISRI0IE, 'QIEu, 'BA, HE', 'HE]
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In [107]:

import gensim

num_features = 300
min_word_count = 1
num_workers = 1
context = 5
downsampling = 1e-3

In [112]:

model .most_similar("HA1", topn=30)

[("ZM2', 0.9985334277153015),
("Ul", 0.9980396628379822),

( JIEJ' 0.9976990222930908) ,
("OFLH', 0.9971907138824463),
("=&"', 0.9970749616622925),
("O4AHLIZ ', 0.9969769716262817),
(eHd

12", 0.9968122243881226),

mode| = gensim.models.Word2Vec(total_title, workers=num_workers,
size=num_features, min_count = min_word_count,
window = context,

model_name = "stopwords_only_title"

mode | .save(mode | _name)

sample = downsampling)
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['YIEEL, JiEr, BUBOE/ 2T | T2, ],
['JIAHS', 'Ad', 'S0HHs/ dd2 'SEAM' 'GrO} 4]
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'I"IE > E_:' Q:|_—I_|_x|_ In [253]:
. most_5|m|Iar(

mode| = gensim.models.Word2Vec. load( 'nametitle_raw_win_15")
import re

Atz

re} = Il

- YEAHACE O|FT HET

def find_person(word)
try:

tuple = model .wv.most_similar (word
members = []

, topn=200)
p = re.compile( ' A[Jt-2']+/ [ It
for | 1n tupl

person = p.findall(i[0])
if len(person)>0:

members. append(person)
return(members)
except:

return( 'S

A= S ALIcH)
In [263]: find_person('gan')

Out[263]: [['CHSH&A /Ot
[ EHoI—C_l
[ EHoI—E,__l/
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slack AP

Start here

Building Slack apps
Recent updates
Best practices

App blueprints

App features

Internal integrations
Incoming webhooks

Slash commands

Bot users

Dialogs

Shared Channels
Enterprise Grid

Legacy custom integrations

Workspace apps

Messages

Introduction
Basic formatting

Attaching content

Building Slack apps

Customize functionality for your own workspace or build
a beautiful bot to share with the world. Provide your
ingenious integrations with a suitably configurable
container. Build a Slack app.

* App capabilities

* Creating apps

» Building internal integrations for your workspace
« Installing apps (with and without OAuth)

» Distributing apps to other workspaces

* How users interface with your app

« About Slack's app directory

» Caring for and managing your Slack app record

What your apps do is up to you — maybe it performs one distinct task incredibly well or
perhaps it orchestrates a technological concert between individual Slack features and
your internal accounting service.

First-timer or seasoned veteran? Often it's best to just get started and learn along the
way.

Create a Slack app Manage your apps

ack Q1=

Create a Slack App X
o Interested in the next generation of apps?
°

We're improving app development and distribution. Join the API
‘ Preview period for workspace tokens and the Permissions API.

(App Name )

e.g. Super Service

DonT worry; you'll be able to change this later.

Development Slack Workspace

‘ Development Slack Workspace v

Your app belongs to this workspace—Ileaving this workspace will remove your
ability to manage this app. Unfortunately, this can’t be changed later.

By creating a Web API Application, you agree to the Slack APl Terms of
Service.

Cancel Create App
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App Credentials

These credentials allow your app to access the Slack API. They are secret. Please don't share
your app credentials with anyone, include them in public code repositories, or store them in

insecure ways. "-'MI I'LI n " py

App ID Date of App Creation

ARISSALR) | [ May 62018 ) slackbot_settings.py

Client ID

334098964660.358910156868

API_TOKEN = "xoxb-334098964660-
Client Secret 378937926466-)1ysgAOX2KIcbMV8GpH62irc"

scecsscsce Show Regenerate

You'll need to send this secret along with your client ID when making your oauth.access request.

Verification Token

XxuJRpbaX1xThxdjwilzulLjFé Regenerate

For interactive messages and events, use this token to verify that requests are actually coming from
Slack. Slash commands and interactive messages will both use this verification token.
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from slackbot.bot import Bot mode| = gensim.models.Word2Vec. load( 'nametitle_raw_win_15")
from slackbot.bot import respond_to
import re
@respond_to(".+") def find_person(word):
def help(message): try: -
) | | tuple = mode!l .wv.most_similar(word, topn=200)

answer = find_person(message.body["text"]) nembers = []

answer = "fftn" . join(sum(answer,[])) p = re.compile(' A[ -2 1+/[ -2 ]+$')

answer = answer.replace( "##n", "#n") for i in tuple:

message . send(answer ) person = p.findal I(i[0])

if len(person)>0:
, ' members.append(person)

def main(): return(members)

bot = Bot() except:

bot'run() return('8l= &0 LICH)
if __name__=="__main__":

main()






